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LT-7507 b LT-7200b
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LT-7507b

1t7507b# show running-configg
Building configuration...

Current configuration:
!

version 12.0

|

hostname 1lt-7507b
1
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ip subnet-zero

no ip domain-lookup

!

interface ATM1/0

no ip address

no ip directed-broadcast
no ip mroute-cache

no atm ilmi-keepalive

!

interface ATM1/0.1 multipoint
ip address 10.1.1.2 255.255.255.0
no ip directed-broadcast
pvc 0/85
protocol ip 10.1.1.1
encapsulation aalS5snap
!

ip classless

no ip http server

!

line con 0

transport input none

line aux 0

line vty 0 4

login

1

end

1t-7507b# show interface atm 1/0
ATM1/0 is up, line protocol is up
Hardware is cxBus ATM
MTU 4470 bytes, sub MTU 4470, BW 155520 Kbit, DLY 80 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ATM, loopback not set
Keepalive not supported
Encapsulation(s): AAL5, PVC mode
256 TX buffers, 256 RX buffers,
2048 maximum active VCs, 1024 VCs per VP, 1 current VCCs
VC idle disconnect time: 300 seconds
Last input 00:01:55, output 00:01:55, output hang never
Last clearing of "show interface" counters never
Queueing strategy: fifo
Output queue 0/40, 0 drops; input queue 0/75, 0 drops
5 minute input rate 0 bits/sec, 0 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
163861 packets input, 3164940 bytes, 0 no buffer
Received 0 broadcasts, 0 runts, 0 giants, 0 throttles
33 input errors, 33 CRC, 0 frame, 0 overrun, 0 ignored, 0 abort
144191 packets output, 2138298 bytes, 0 underruns
0 output errors, 0 collisions, 0 interface resets
0 output buffer failures, 0 output buffers swapped out
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1t-7507b#debug atm packet interface
al/0.1 vc 0/85
ATM packets debugging is on
Displaying packets on interface ATM1/0 VPI 0, VCI 85 only
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1t-7507b#ping

Protocol [ip]:

Target IP address: 10.1.1.1

Repeat count [5]: 2

Datagram size [100]:

Timeout in seconds [2]:

Extended commands [n]:

Sweep range of sizes [n]:

Type escape sequence to abort.

Sending 2, 100-byte ICMP Echos to 10.1.1.1, timeout is 2 seconds:

pingO| &lm{3l11 ATM C|tHa = Eci= 0| L7t CtA| Eot2X| i &8 EAIRFLICH

lwld: ATM1/0.1(0O):
VCD:0x5 VPI:0x0 VCI:0x55 DM:0x100 SAP:AAAA CTL:03 OUI:000000
TYPE:0800 Length:0x70
lwld: 4500 0064 001C 0000 FFO1l B778 0AO1l 0102 0AO01 0101 0800 9994
0E58 068B 0000
lwld: 0000 2D42 A290 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
lwld: ABCD ABCD ABCD ABCD ABCD
lwld: .
lwld: ATM1/0.1(0):
VCD:0x5 VPI:0x0 VCI:0x55 DM:0x100 SAP:AAAA CTL:03 OUI:000000
TYPE:0800 Length:0x70
lwld: 4500 0064 001D 0000 FFO1l B777 OAO1l 0102 0AO01 0101 0800 91cC3
0E59 068B 0000
lwld: 0000 2D42 AA60 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
lwld: ABCD ABCD ABCD ABCD ABCD
lwld:
Success rate is 0 percent (0/2)

O[X| =1y FIEhE Z=7}3tH show interfaceOl| A £ X U0| |0 UZE EAIRFLICE

1t-7507b#configure terminal
Enter configuration commands, one per line. End with CNTL/Z.
1t-7507b(config) #int al/o0
1t-7507b(config-if) #loopback diagnostic
1t-7507b(config-if) #atm clock internal

B Rz FH2 okl QEm0|AT} ot 7|2 QB O] A0 T daloF B LICH.

1t-7507b# show interface al/0
ATM1/0 is up, line protocol is up
Hardware is cxBus ATM
MTU 4470 bytes, sub MTU 4470, BW 155520 Kbit, DLY 80 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ATM, loopback set
Keepalive not supported
Encapsulation(s): AAL5, PVC mode
256 TX buffers, 256 RX buffers,
2048 maximum active VCs, 1024 VCs per VP, 1 current VCCs
VC idle disconnect time: 300 seconds
Last input 00:03:16, output 00:03:16, output hang never
Last clearing of "show interface" counters never



Queueing strategy: fifo

Output queue 0/40, 0 drops; input queue 0/75, 0 drops

5 minute input rate 0 bits/sec, 0 packets/sec

5 minute output rate 0 bits/sec, 0 packets/sec

163861 packets input, 3164940 bytes, 0 no buffer

Received 0 broadcasts, 0 runts, 0 giants, 0 throttles

33 input errors, 33 CRC, 0 frame, 0 overrun, 0 ignored, 0 abort
144191 packets output, 2138298 bytes, 0 underruns

0 output errors, 0 collisions, 1 interface resets

0 output buffer failures, 0 output buffers swapped out

Ping2 AI§&X|2F ATM C|HHZ = O(Out Out) %! I(Return In) ECHZE F AIEFLICE.

1t-7507b#ping
Protocol [ip]:
Target IP address: 10.1.1.1
Repeat count [5]: 2
Datagram size [100]:
Timeout in seconds [2]:
Extended commands [n]:
Sweep range of sizes [n]:
Type escape sequence to abort.
Sending 2, 100-byte ICMP Echos to 10.1.1.1, timeout is 2 seconds:

lwld: ATM1/0.1(0):

VCD:0x5 VPI:0x0 VCI:0x55 DM:0x100 SAP:AAAA CTL:03 OUI:000000
TYPE:0800 Length:0x70

lwld: 4500 0064 001A 0000 FFO1l B77A 0AO1 0102 0A01 0101 0800 119A
13A2 07C5 0000

lwld: 0000 2D41 2408 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD

lwld:

lwld: ATM1/0.1(I):

VCD:0x5 VPI:0x0 VCI:0x55 Type:0x0 SAP:AAAA CTL:03 OUI:000000
TYPE:0800 Length:0x70

lwld: 4500 0064 001A 0000 0101 B57B 0AO1 0102 0A01 0101 0800 119A
13A2 07C5 0000

lwld: 0000 2D41 2408 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD

lwld: .

lwld: ATM1/0.1(0):

VCD:0x5 VPI:0x0 VCI:0x55 DM:0x100 SAP:AAAA CTL:03 OUI:000000
TYPE:0800 Length:0x70

lwld: 4500 0064 001B 0000 FFO1l B779 0OAO1 0102 0AO01 0101 0800 09C9
13A3 07C5 0000

lwld: 0000 2D41 2BD8 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD

lwld:

lwld: ATM1/0.1(I):

VCD:0x5 VPI:0x0 VCI:0x55 Type:0x0 SAP:AAAA CTL:03 OUI:000000
TYPE:0800 Length:0x70

lwld: 4500 0064 001B 0000 0101 B57A 0AO1 0102 0AO01 0101 0800 09C9
13A3 07C5 0000



lwld:
ABCD ABCD ABCD

0000 2D41 2BD8 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD

ABCD ABCD ABCD
lwld: ABCD ABCD ABCD ABCD ABCD
lwld:

Success rate is 0 percent
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1t-7200b# show running-configg
Building configuration...

Current configuration:
!
version 12.0
service timestamps debug uptime
service timestamps log uptime
no service password-encryption
1
hostname 1t-7200b
!
interface ATM2/0
no ip address
no ip directed-broadcast
no atm ilmi-keepalive
!
interface ATM2/0.1 multipoint
ip address 10.1.1.1 255.255.255.0
no ip directed-broadcast
pve 0/85
protocol ip 10.1.1.2
encapsulation aalS5snap
|
1
ip classless
no ip http server
!
line con 0
transport input none
line aux 0
line vty 0 4
login
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end

RIE{H|o|A0 M 2 Bolg dH57| H

1t-7200b# show interface atm 2/0
ATM2/0 is up, line protocol is up
Hardware is TI1570 ATM
MTU 4470 bytes, sub MTU 4470, BW 155520 Kbit, DLY 80 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ATM, loopback not set
Keepalive not supported
Encapsulation(s): AAL5, PVC mode
2048 maximum active VCs, 1024 VCs per VP, 1 current VCCs
VC idle disconnect time: 300 seconds
Last input 00:00:43, output 00:00:43, output hang never
Last clearing of "show interface" counters never
Queueing strategy: fifo
Output queue 0/40, 0 drops; input queue 0/75, 0 drops
5 minute input rate 0 bits/sec, 0 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
94912 packets input, 1637823 bytes, 0 no buffer
Received 0 broadcasts, 0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored, 0 abort
102893 packets output, 2042225 bytes, 0 underruns
0 output errors, 0 collisions, 3 interface resets
0 output buffer failures, 0 output buffers swapped out
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1t-7507b#debug atm packet
ATM packets debugging is on
Displaying all ATM packets
1t-7507b#debug atm packet sh debug

1t-7507b#ping 10.1.1.1

Type escape sequence to abort.
Sending 1, 100-byte ICMP Echos to 10.1.1.1, timeout is 2 seconds:
!

Success rate is 100 percent (1/1), round-trip min/avg/max = 1/2/4 ms

ping0| BHo 2 £+HE|T ATM C|H o= ECiE 0| M& W CHA| Eo{2D /S
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00:45:14: ATM1/0.1(0):
VCD:0x1 VPI:0x0 VCI:0x55 DM:0x100 SAP:AAAA CTL:03 OUI:000000
TYPE:0800 Length:0x70
00:45:14: 4500 0064 0005 0000 FFO1l B78F OAO1 0102 0AO01 0101 0800 028C
02D4 0C51 0000
00:45:14: 0000 0029 6C70 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
00:45:14: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
00:45:14: ABCD ABCD ABCD ABCD ABCD
00:45:14:
00:45:14: ATM1/0.1(I):



VCD:0x1 VPI:0x0 VCI:0x55 Type:0x0 SAP:AAAA CTL:03 OUI:000000

TYPE: 0800 Length:0x70

00:45:14: 4500 0064 0005 0000 FEO1 B88F OAO1 0101 0AO01 0102 0000 OAS8C
02D4 0C51 0000

00:45:14: 0000 0029 6C70 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:45:14: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:45:14: ABCD ABCD ABCD ABCD ABCD

Success rate is 100 percent (1/1)

2 E 1t-7200b2] ATM Q/E{H 0| A0 A R g2l 1M

1t-7200b#configure terminal
Enter configuration commands, one per line. End with CNTL/Z.
1t-7200b(config) #int a2/0
1t-7200b(config-if) #loopback line
1t-7200b (config-if) #4Z
1t-7200b#config show interface a2/0
ATM2/0 is up, line protocol is up
Hardware is TI1570 ATM
MTU 4470 bytes, sub MTU 4470, BW 155520 Kbit, DLY 80 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ATM, loopback set
Keepalive not supported
Encapsulation(s): AAL5, PVC mode
2048 maximum active VCs, 1024 VCs per VP, 1 current VCCs
VC idle disconnect time: 300 seconds
Last input 00:02:45, output 00:02:45, output hang never
Last clearing of "show interface" counters never
Queueing strategy: fifo
Output queue 0/40, 0 drops; input queue 0/75, 0 drops
5 minute input rate 0 bits/sec, 0 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
94917 packets input, 1638383 bytes, 0 no buffer
Received 0 broadcasts, 0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored, 0 abort
102898 packets output, 2042785 bytes, 0 underruns
0 output errors, 0 collisions, 5 interface resets
0 output buffer failures, 0 output buffers swapped out

&1 2FRE 1t-7507b0l M Pingping2 O A4 CHE ATl X|2+ E 2=
7507bE CtA| 2L E[T ATM C|HO= EHEO| (O) Lt7t= W8 EAlIStD (1) CHAl E0{R=
FE AlghLCY.

1t-7507b#ping 10.1.1.1

Type escape sequence to abort.
Sending 2, 100-byte ICMP Echos to 10.1.1.1, timeout is 2 seconds:

Success rate is 0 percent (0/2)

00:52:00: ATM1/0.1(0):

VCD:0x1 VPI:0x0 VCI:0x55 DM:0x100 SAP:AAAA CTL:03 OUI:000000

TYPE: 0800 Length:0x70

00:52:00: 4500 0064 000F 0000 FFO01l B785 0AO01 0102 0A01 0101 0800 CE44 1
21D 0009 0000

00:52:00: 0000 002F 9DBO ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
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ABCD ABCD ABCD

00:52:00: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:52:00: ABCD ABCD ABCD ABCD ABCD

00:52:00:

00:52:00: ATM1/0.1(I):

VCD:0x1 VPI:0x0 VCI:0x55 Type:0x0 SAP:AAAA CTL:03 OUI:000000

TYPE: 0800 Length:0x70

00:52:00: 4500 0064 000OF 0000 0101 B586 0AO01 0102 OAO1l 0101 0800 CE44
121D 0009 0000

00:52:00: 0000 O002F 9DBO ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:52:00: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:52:00: ABCD ABCD ABCD ABCD ABCD

00:52:00:

00:52:02: ATM1/0.1(0):

VCD:0x1 VPI:0x0 VCI:0x55 DM:0x100 SAP:AAAA CTL:03 OUI:000000

TYPE: 0800 Length:0x70

00:52:02: 4500 0064 0010 0000 FFO1 B784 0AO01 0102 OAO1 0101 0800 C673
121E 0009 0000

00:52:02: 0000 002F A580 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:52:02: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:52:02: ABCD ABCD ABCD ABCD ABCD

00:52:02:

00:52:02: ATM1/0.1(I):

VCD:0x1 VPI:0x0 VCI:0x55 Type:0x0 SAP:AAAA CTL:03 OUI:000000

TYPE: 0800 Length:0x70

00:52:02: 4500 0064 0010 0000 0101 B585 0AO01 0102 OAO1l 0101 0800 C673
121E 0009 0000

00:52:02: 0000 002F A580 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:52:02: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00:52:02: ABCD ABCD ABCD ABCD ABCD

Success rate is 0 percent (0/2)
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